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{W, W’ € Wao} n{(W+, W), (W), (W) ™) € Wonce} when k > log |Gap|.
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{W, W' € Wyno} N{(W+, W), (W) F,(W')") € Whoc} whenk < log |Gas|,
typ =
{W, W' € Wygoo} N{(WH,W=),(W')*,(W')~) € Wonac} whenk > log |Gap|.
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4204 00 0Ch, (1) /we V21D Sym [e"”’(']cck “(t)e"""o*‘“")F' (0u()

F 008 (B0 0. @)+ 0 (1207 o+ 1 om0 )

J

. )¢u(.)2 \/—H] (2)
2)6—\/5(-)] (x)

A(Pro,0) (t, @) =ibug, (£)Sym (9 B, ko+1(t +Zf] )0uPj ko+1(t )) (z)

+i [8¢ky (t) — Sur, (£)] Sym (5c¢w ko1 () + D Fi(O)0cpsko(t, )) (=)

J
+ibo, (£) Sym (67¢w,ku+l(tw )+ D FiOdpike(t, ')) (2)
3

Fi8 s oo (8)SYM Db o 118 )) (@) + 10 furko ()SYM (S (P41 (8:)) (&)
ooy (1) Ve VO Sym [ O, e o 0O F (8,060 ()2e 0] (@)

2040000, ()ViseVEO Sym [ Ore, e Ho 1 CIF (9,0 (@)

(ko)
+ 3 r5(0,8)Sym (piko 1t ) () + O (vz’m“ [ltlv +In ﬂ e’zﬁ“‘”) ,
7

\begin{aligned} {{A (\varphi_{m, 0} ) (t,x)=d_{m_{m}} (0) \operatorname{sy p} m
\begin{aligned} {{A ( \varphi_{m, 0} ) (t, x )=d_{m_{m}} (0 ) \operatorname{s y p} m \left(
\operatorname{l o g}_{m, k+1} (t, )+\sum_{i} £ {i} (0) \theta_{i} p_{k+1} (t, i) \right) (x
MW & {3\ {{}+i1 [ k_{m, 0} (0 )-i (0) \operatorname{s p} m \left( \operatorname{l o
gl_{m, k+1} (t, 1 )+\sum_{i} £_{i} (0) \theta_{i} (t, 1) \right) (x )} \ {}} & {{}+i (k_{m,
k} (0) \operatorname{s p} m \left( \operatornamefl o g} _{m, k+1} (t,i)+\sum_{i} f {i} (0
) \operatornamefs p}_{i} (t,i) \right) (x)}} \\ {{}} & {{}+i (k_{m, k} (0 ) \operatorname{l

_((_m)+m2+x2+x2 +T,— l)an—z+zn_°° )aa

og} {m} (0) \operatorname{s p}_{i} (t, i) \operatorname{s p}_{i} (t,i) \operatornamefs
pr{i} (t, )P\ {{}} & {{}+i (k_{m, 2} ) \operatornamefs p} ( \operatornamef{l o g}_{m}
\left[ \operatornamefl o g} _{m, 1} ('t, i ) \operatornamef{s p}_{i} (t,1) \right] (x)}} \\ {{}} &
{{}+i_{i} \operatornamef{s p}_{m, k} (0 ) \operatornamefs p} {m}(x,1)(x)
\operatorname{s p}

4



https://duguang.aliyun.com/experience?type=edu&subtype=math_rec#intro
https://p2t.breezedeus.com/
https://ai.xdf.cn/ability/FormulaDistinguish

k(xl,xl) k(xl,X2) “ e k(xl,xN) 5 y y ]
k( ) k( ) k( k(xlaxl) k(x1’x2) k(XIaxN) k(xl,xl) k(xl,x2) k(x1,XN) (xl,xl) (x1,x2) (xl,xN)
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Ky=| . | T e X -
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k(xy,x1) k(xy,x2) ... k(xy,xXy
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M—l — 0 Vo Yo — -1 S0Y0 — Yo Hoyo —Vp Yo Mol = [ TO - UoTyjq ] ' _ 1 [SoTyo —ggHoyo —v(?yo} M= [ 0 v Yo ] ! _ -1 [Sgyo —y5 Howo —vgyo] [ 0 vlyo -1 |styo—ygHoyo —viyo
! yg Vo Sgyo - yg Hoyo (’Ug Y0)? _yg 0 0 Lo sov0 — v Hovo (v o)* Tt 0 b L sowo — v Howo Wfw)? L —shw 0 e slvo— vl Howe|  (v1wo)? —y3vo 0
-1 _ 1 as-177T _1gT, T _peprT, 171 . .
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— ¥k Uk o — Byl Uy A Tt THO R G B O I B T Sl B A R e S gy, -4
_(RVY\-T T T VY\—1 VY\-T
M= (Rk ) (Rk + R (Dk_+ Yy HOYk)) (Rk ) (Rk ) —1_ [SB) T (B + R = (D + YU HoYy)) (RYY) ™ (RYY)TT 1 _ [~(BY)T (R + RY — (Di + Y HoYa)) (RY) ™ (RY) T o |~ @®) T (Re+ RE — (De + YT HoYa)) (R (RYY) T
k VYy\—1 M M
(Rk ) kak k (RYY)! Opxk |77k (RYY)™ Orxk M= (RVY) Orer |
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Bi=Bo+[Cr Yi-BoSi |, sk

s
(RkCS)T Ry + R{ — (Dg + »S(I{B()Sk):|

(Yr — BoSk)T

0
By = By + [Ck Y, — B[)Sk] (R’kéék

rgs o
)" Ri+R{ — (Di + S,cTBnSk)] [(Yk — BoSk)7T

B, =By+[Ck Yi—BoSi]

Opxke
(RZS)" Re+RY -

%
(Dx + ST By Sk

)] ’ [(Yk 7C§Tosk)T] '

0
By, = By + [Cr Y — BoSk] ( R’kéxs’;T

RS Mo
(¥ — BoSk)"|”

Ry + R{ - (Dk + SkTBoSk)

N, = Ri+RI—-(Di+Y,'H Ti(;l;k,)+R};Y-|—(RZY)T (R¥)T No— [RHR{-(DHY,CT;I%;C)+RkYY+(RkYY)T (}EE’Y:T Ny [Rk B (Du 4 YTHY) + R + (BEYT N, _ B+ BE = (Dt YkTRflIr(;Yk) +RYY + (RYY)T (I(?—)k”)T = [t = (0t et R 5 (RVIT (R0 0
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- t[Y, V] [(1 — thY*) / V] o] — 1Y, V] (1-2yy*)'? 7] . (1Y) 6077 — [(1-2yy*)* 7] 00,7 = tY, V] [(1-2?yY™) ", V]
U, V3] = [(1 B t2Y*Y) 1/2 V] [y V] oo [(1 —2y*y)'/? —t[Y*, V] i R [ -#vy) —t[Y*, V] e e [(1 —2y+y)'/? ,17] —t[Y*, V] T [(1 — £2Y*Y) —t[Y*, V]
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NG

55 557 55

5552 —2864 —2688

1 2 4 362
(Xn—( 08 304 36 )) Py Ny [0, —— | —2864 1808 1056
3025 \ _9688 1056 1632

—2688 1056 1632

5552 —2864 —2688
! (X"—(QO8 304 362)) BNV (0, ﬁ (—2864 1808 1056

W

1 X 208 304 362
" 55’ 55’ 55

5552

—2864
—2688

—2864 —2688

5555 55

Blig

(xn_(208 304 362))1”\[3

1 5552  —2864 —2688
0, 3025 —2864 1808 1056

—2688 1056 1632

4k 1
H "o o— Py—1 P and I | Pk P11+ P
(o7 Qq,,0 - ) E]
b Py, Papya | Pakrr” Pk + Poga |
k1 1
. — (P —Pu d I _ | P Pt
Q; — P P an 1, 0k42 T P ) P )
ey 2k+2  —Pokt1 21 Pokia |
k42 ;
Porr1 P Pop + Popy1 - Popya
Ha, = and Iﬁl,"',&4k+3 = P P ' P s
ey Pory2 Popy1 ok+1 + Pakt2 Pok2 |
4k+3 :
Pokt1 —Popyo Pokto Pota
H,, = and I g = B .
ey Pokt2 —Pogys 2k+3 Poryo

ak
Po—y Poy
H, = d
H ‘ (sz P2k+1) a

k42
H H,, = (P2k+1 Poy ) and
; o Popyo Pogsr

bl Popyo —Popys

1y Qak41 T

k-1
H _ (P2k+1 — Py ) and
! o Poryo  —Popi

4k+3
H Hy, = (P2k+1 _P2k+2) and

Py, Popq+ Poy
Pory1” Pog + Parga

7 | Pk Paena

e apgs = | oy e

Pk Pory1’ Porya
| Pkt Poks1r Poga

PRS2 - b

et Poy1 + Popya’ Pogyo

I _ | Pokt2 Pkt

(o3 IR e X7 - =

s Porys’ Poryo

4k
H H. — Py 1 Py
P « Py Py

4k+1
H — Py
Qa — P.
) k-2
=1

4k+2
II & - Poryr P
P a‘ Pori2 Poryr

4k+3
H — Popy1
Q; — P
’ 2k+2
i=1

)a.ndIu,l,...,%H1 = [

) a‘ndIﬂly"-,auH = [

) andly,,... oy, = [

) andIf!ly"',Mkn =

Py,
Pogi1’ Pog + Popyr

Py, + Popy1

k)
Popi1+ Pogya’ Porya

\begin{array} {lcr} {{{\prod_{i=1}"{4} H_{i_{i_{i_{i}}}}=\left(\begin{matrix} {{{P_{21

\begin{array} {T c r} {{{\prod_{i=1}"{4} H_{i_{i_{i {i}}}}=\left(\begin{matrix} {{{P_{2 k-1}}}}|
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0 o1 % \ */ 0 0 --- 1 = g i
oo - 01/ (\0 0 01/ ] (\o 0 -0 1/, oo -0 1/,
k(x,y) = k(x—y) k(x,y) = k(x—y) k(x,y) = k(x — y)
= / p(w) exp(ie” (x — y))dw = / p(w) exp(iew” (x — y))dw = / P(w) exp(iw” (x — y))dw
=E. [:xp(in(x -y)] = E. [Rexp (iw” (x—y))] s “ =sin [;xp(w(x -
A 5> emiw] (x-y) L 1S exp(iw] (x - ) T e i bt = Yol ()

! {yN\WracT{\sart{R}exp( \omega}_. ty isart{R}exp(

1 iwl! Tro —iw T - . T . _R"\top\mathbf{y &lovers ] name*{\equiv}}\ {x})\mathbf{h} T 1
Ve :iig:iz; Vi Zgg_z:iz; # exp(z}wix) % exp(— zAwgy) (\mathbf{y}) ~* \endfaligned} _ {_ exp(i™ (%) ] {ﬁ o)
= \/}—z . \/I—z . = ﬁ exP(“‘-’z X) ﬁ exp( e y) © FRAERABHER, TUSHFHEE L atexRiA, NEMEINENEHU—BH URRNEFHLER! [
: : : : = | — exp(iw; y)]
ﬁ exp(iw ;) ﬁ exp(—iwRy) ﬁ exp(iwfx) % exp( — iwhy) \/_
. = 2 (x)h(y)".
£ h(x)h(y)"- = h(x)h(y)". 2 ()
— Ho ol + — Ha)T — Hu)T _ (sk = Hiy)vk + (s — Hyye)™ (56— Hiyi) "y 7
Hewr = Ho+ (sk kyk)vkvk y’l;k(sk kyk)”  (sk o ;ci!)k) YE T Hpyr = Hy + Tor T2 VEUR s H (55 — Hkyk)va:yvk(Sk —Hay)" (st EvH;y)kz)Tyk oyl
_ —lrr T _ =1rrT, \T o T % Yk % Yk
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Ot “MZWUTye O UT 1 2k 2k —M; Ui yr O2x1 v 0 Ookx —M'UTy, Ogon| [UT
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Se Y Siyk fh<l STV ST . ST, Sty
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prOdUpdate (Sk Yk, Sk , Yk) Sk, yk) = < -, T prodUpdate (Sk Y, Sk, Yk, Sk, yk) = <STYk> ST ne{S_kTY_ight linefS KTy %\\in&;ses) inef Kl KTy, Kendarray)vig it~Jgea prodUpdate (Sng, Sk, Yk, Sk, yk) = (S’T—Y) oT ifk>1
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szYk sfyk

T
5. Yy skyk

LASTE (G |

0 [(1-2YY™)
(1= 22yy+)"? 7] 0

1/2

V]

<te+(1-the=ce.

Hence (7}, 172 define a *-homomorphism ft which is a lift of f;.

v | )+
0 (=YY 7
et *707")

Hence [, V; define a *-homomorphism f; which is a lift of f,.

<tet(1-the=e

o 7 < | ( " e

0 [ -#vy)”, 7]
[(a-#yy)”, 7] 0

Hence Uy, V; define a *-homomorphism ft which is a lift of f;.

<te+(1-t

Je=¢€.

(AT (AL |
[a-evyy”.v] ) |

0
[a=evys¥ 7] 0

<tet+(1-t)e=e

Hence U, V; define a *-homomorphism f, which is a lift of f, .
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